



namn: _____

Datum: _____ Poäng: _____

$8 + 9 =$

$2 + (-1) =$

$(-10)^3 - (-2) =$

$(-2)^2 - 6 =$

$1^2 + (-8) =$

$(-8)^2 - (-4) =$

$1^0 + 10 =$

$1^2 - (-3) =$

$5^2 + 2 =$

$3^2 - 9 =$

$(-9)^3 + 6 =$

$(-2)^3 - 1 =$

$8^3 + 2 =$

$(-7)^2 - 7 =$

$(-3)^2 + 8 =$

$5 + 9 =$

$2^3 + (-6) =$

$6^2 - (-5) =$

$(-1)^2 + 9 =$

$(-5)^2 - 1 =$



namn: _____

Datum: _____ Poäng: _____

$$8 + 9 = 17$$

$$2 + (-1) = 1$$

$$(-10)^3 - (-2) = (-998)$$

$$(-2)^2 - 6 = (-2)$$

$$1^2 + (-8) = (-7)$$

$$(-8)^2 - (-4) = 68$$

$$1^0 + 10 = 11$$

$$1^2 - (-3) = 4$$

$$5^2 + 2 = 27$$

$$3^2 - 9 = 0$$

$$(-9)^3 + 6 = (-723)$$

$$(-2)^3 - 1 = (-9)$$

$$8^3 + 2 = 514$$

$$(-7)^2 - 7 = 42$$

$$(-3)^2 + 8 = 17$$

$$5 + 9 = 14$$

$$2^3 + (-6) = 2$$

$$6^2 - (-5) = 41$$

$$(-1)^2 + 9 = 10$$

$$(-5)^2 - 1 = 24$$